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UTILIZATION OF ELECTRICAL POWER & TRACTION

frerifr a6 o | tm 3515:70

Time allowed : Three Hours] | ~ [Maximum Marks : 70
Fe: () v we afar b, 9y 3 9 R vl & I B |
Note : Question No. 1 is compulsory, answer any FIVE questionls from the remaining.

(ii) Nea XeT & G 5T 1 FHAR G GTY BT HA |

Solve all parts of a question consecutively together.
(iii) YRFTAFRGFIIHENE )
" Start each question on fresh page.
(iv) 27 s F o 83 9 Ry F s a4 1

Only English version is valid in case of difference in both the languages.

1. () fescuma Aot sites st wemeyl- SR wr st T |
" Draw Torque Armature current charactenstlcs of dc series motor.
(i) e are 1 frgra fafed |

Write principle of dielectric heating.

(i) Sfever SfREm 3 T R |
- Write advantages of resistance weldmg
(v) @ o i)
Define lamp efficiency.
(v) SRS VI I GRETE | |
Explain the coefficient of Adhesion. o ' . (2x5)
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mmmww%gmmwuﬁﬁmmaﬁm |
~ Describe the main advantages and dlsadvantages of individual drive and group

~ drive.

mm%%&mmﬁamwﬁwmﬁ?
(a) gt fret () W

Which type of motor is suitable for followiﬁg drives and why ? o ’
(a) Textile nulls - (b) Refngerator o o E ~ (6+6)

aﬁs tfla ﬁm W w1 wfem qui #ﬂﬁ& |
Describe coreless induction furnace with diagram.
ferger aam & Tt o1 ol Hifdee |

Describe advantages of electric heating. (6+6)

iy AfRdn tg ek 3R A g FIfR |

Compare resistance welding and arc welding.

firg 3 = e & e e wedh Swa e I

Explain spot weldmg in detail and write its uses. : (6+6)

T 30 HY, x 20 1. x8 . %Wﬁaﬁmmtlﬁﬁﬁﬁsﬁatm
144a@w/tﬂa2maﬁrmmtﬁwnmt -

I e O = 0.6,

¥ = 0.75

IR I S =1,

200 1€ A% % fergeegia why ame= 13,

500 A2 % A ¥ RewEe v = 16,

Ifra A7 T Y F IR G Y 10T FRI |

It is desired to illuminate a drawing hall of 30 mx 20 m X8 m. The helght of
lamps is 5 m and illumination required is 144 lumen/m?. Given

Utilization factor = 0.6

Depreciation factor = 0.75

Space height ratio = 1

Lumen/watt for 200 watt lamp = 13

Lumen/watt for 500 watt lamp = 16.

Select the suitable lamp and calculate the number of lamps.

7= wEhr & forg Re-Rrw wret &1 e v AT TR ¢
What are the factors to be considered for good lighting ? k (6+6)
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6. () e, T T G g W ) F |
Explain average speed, crest speed and scheduled speed.
i) 3 e it T 7 G e ¥y S e A |

What is the mechanics of train movement ? Derive an expression for tractive

effort. : (6+6)

7. () Terga-deor yoeh & 3ud 6t Rl vl Hife !
. Describe the location of substations in electric traction system.
(ii) mﬁﬁmﬁﬁwmrﬁwm I

" Compare diesel and electric traction system. - (6+6)

8. P v Rt Rl

Write short notes on the following :
() TRE A AN

Mercury Vapour Lamp »
(i) wEur st wr frdremd

General features of traction motors. o ~ (6+6)
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